ST
compout? e COMPOUND INTEREST 8.7
8.6 g ;

; li(_]ﬁl_(_]____ 1.0129" ' Q.5. The annual birth and death rates
m=2, t=1yt i of' 72000 per 1000 are39.4and 19.4 respectively.
p=mt=2x1== . j 116666, (1.0125)" The nufnber‘uf years in which Ehe

A ol _ population will be doubled assuming
p=AQ+)™ =T3030[| +200 e 1] _01'25)'2-“ =(1.0125)* [Note :- there is no immigration or emigration
coddl : is:
lues given in question] i
5 .=%75000 |ways use ¥ ‘
74999.999 _ A =3l () 35 years (b) 30 years
Calculator Trick _ <= button (POWer =2) times thep ordt=124 o =20y o ot
Typed » 200+ 1 thenpress = buﬁonmenl)f:ss: button we get the requireq rg: ) . ()is correct ¢) 25 years (d) None of these
xbutton then type A value = G EO e - b gal? 1,000 be invested at interest [Aug. 2007]
ONS WITH SOLUTIONS (MEMORY BASky)  sate T 594 and the interest be added | Solution : (a)is correct
[ONS VITTT = T | T principal every 10 years, then | o, 1000 1 Per 100
Q.l TR athesimple () 2years (b _4 years the pumber of years in-_which it will Birth rate —eg?‘-*— 3;—94—
and. compound interest on & certain | (c). 5 years (d) 7 years qmount €0 72,0008 : . s 4 !
sum for 3 year at 5% p.. is F228.75. | [Feb. 2 2 1 athrate 194 1.94
The compound intereston the sum for Solution ; (4) : 0y (@ 1_6-5 years  (b) Jq Years Population increase 2.00%
Zyearsat5%pa.is: o r i il i ‘Population increase = 2.%
@ 33175 (b) T3075 A=D (1+;—] : . 2 : : e, Sl
© 13215 (@ 1297 g (9 16yems (@ 63 years %=2=(1+0.02)'
: [Nov. 2006] | - 436976 _(} LR B e .
Solution : Tricks - 390,625 200 e ] [Aug. 2007] | Calculator Trick
Dieambex(100. or 1,16985856= (1.04) Solution : Given P =% 1000; m = S| Aypsll 02 Tp push x button then con-
S (3——__00 e g i : ! 10° | tinue pressing = button until to get 2. No.
s o LIgse6=0.0H" e Lrmols of pressings of = button s 34 tmes. So,
2875%100° ' or (L04)*=(1.04) s gy (e
T5% ; / f =(1. — =0, : %
= W%))—=g 30,000 - ot 1=5%pa.- : o Q.6. The effective rate equivalent to
RTINS ! s 2t=4 ., t=2years ; o . 1 C g o % nominal rate of 6% compounded
233075 - 5% buttons = | - (a)is comrect 1 S 0.1><m'0]. Joy | monthly B '
L : _ : - (@) 605 b) 6.16
& CI=A-P=%33075-30000 ' Q3. How long will 712,000 take | = 2200 _ 500 : (@1 W ONe:
L] ;T::tn:??{fg?”s% St | ' | (@626 @ 607
o A U rly? : ~ I L : :
S7(6) B Carroc “  1.1666] M "E“I (1.0125)24=f ) or2= (15" ; : [Aug. 2007]
Q.2.Inwhattime wi : ' o B Solution:: (6) ;
to?4.56,976gg;ﬂ:ma'guu’mﬁzsﬁﬁ @3y @) 3agers f . orOU= 1105125) i !
i ; \W ¢) 13, B - log(1. D m
Eiéﬁfrv:t I(SII:(());I)IFZU-iDdEd semi-annually 7 Ghtks JEEE () 12,4 youn. - Rt : . re= [(H w:}m] - l}x 100
| et LR et  [May 2007 | or 0.1t = 1,709 or "%ﬁ , e _
{ . B . ) . . ] . } Y 6
| Solution : (5 A 1+.i. 4t ) A : = Ii[“*] —l]xlm_ T
| ’ ) P 400 ; e .= 17.(}9:'16; , (a) is correct - 1200 ) - - =6.16%
i . ~ option (b) is correct,




Q.7. A person deposited T 5,000 in a
bank. The deposit was left to
accumulate at 6% compounded
quarterly for the first five years andat
8% compounded semiannually for the
next eight years. The compound
amount at the end of 13 years is :

(@) T12621.50. (b) T 12613.10

(¢) T13613.10 (d) None

{Nov. 2007]
Solution : :
Calculator Tricks :-

st 82
A=5 1+i Gy S
400 200

. 12613.17 =7 12610.00 (approx)
.. (b) is correct.

Q.8. Anshul’s father wishes to have

Z 75,000 in a bank account when his

first college expenses begin. How much

amount his father should deposit now

at 6.5% compounded annually if
Anshul is to start college in-8 years

COMPOUND INTEREST

x 75000 = button
we get T45,317 245320
(a) is correct.

Q9. Thedi.ffere;me between compoy,
mtemtaudsimple intereston a ce, 4

Find the sum:

(a) T1010 (b)) T1,095

(0 T1000 - (d) 990
; ’ [June 200
Solution : (¢) Tricks
_ Actual (CI - SL)
" (CI-SL) at Re.l

10

[(1.10_)2 -1]-0.2
= (¢)iscomrect -
Calculator Tricks :- For 2 years. P=10
+10% + 10% button = ¥ 1000.

Q.10. A machine worth ¥ 4,90,740 is
depreciatedat15% oniits opening value
eachyear. When its value would reduce

P= =%1000,

hence from now? :
(a) T45320 - (b) T 46,360
(e) 55,360 (d) T 48,360.
* [Feb. 2008]°
. Solution : (a)
Calculator Tricks
P=A(l+)"

6"
= bt dl
75000 ( +100J

Calculator Tricks:
Type 6 + 100 + 1 + button
then press = button 8 times

to ¥ 2,00,000 : _ :
(a) 5 years 6 months -
(b) 5 years 7 months
(c) -5 years 5 months -
(d) None )
: [June 2008]
Solutiun : (@) is cor;ect_
Tricks :

_log (2,00,000/4,90,740)

log (1-15/100)

= 5.5 years (approx.)

o fs y1s, 6 months

sum for 2 years @ 10% pa. is 3 1) |

. find the sum:

o

| 14+ then type 200,000+ 4.90,740 = but-

ton then Jbutton 19 times—1 x 227695
_putton then= MRC button = button we
get answer.

. QIL If the difference between simple
interest and compound interestis T 11
at the rate of 10% for two years, then

(b) T 1,100

@ % 1,200
(3] Z 1,000 (d) None of these
[Dec. 2008]
Solation : (b) is correct
. Differencex(100)*
: TMks & (rate)?

T Hf_@’i]ﬁj 1100 -
i (10)*

Calculator Tricks =pP=11
putton =T 1100 i
Q.12: In how many years, 2 sum will
_become double at 5% p.a. compound

+10%=10%

int_el'est_ 3 .
(a) 14.0 years (b) 14.1 years
_(c) 14.2.years (d) 14.3 years

[June 2009]

Solution : (¢) is correct

1  Log(AlP)

iR Logh o o b
Tricks f—memgq+r.‘lﬂ(}m)

v log2 - 14.2yrs. (approx)

= log(1.05) o
Q.13. A sum amount t0 71331 ata

1,000 at 10 % com
ly. Find the time.

‘principal of
pounded an_:mml

I COMPOUND INTEREST 39
Note: (a) 331 years  (b) 4 years
Calculator'l'ricks :Type 0.85 Joutiog | (@ 3 years (d) 2 years
[otimes _1 x227695=button then press ) [June 2009; Dec. 2009/

Solution : (c) is correct

Tricks :- Go by choices

Y
For(c); -4=lul{l+ﬁ] =71331.

- So;t=3 yrs.

Calculator Tricks - GBC

(c)A= 1000+ 10%+ 10%+ 10% button
=71,331 '

Q.14. The compound interest for a
certain sum @ 5% p.2a- for first years
is 225. The S-I for the same money @

5% p.a. for 2 years will be-
(a) T40 (B) 50+
(c) 60 (d) X70 .
: [Dec. 2009]

Solution : (B) is correct

Tricks - )
$1 For Istyrs:=C.. Hor Istyrs. =323
SIFor2yrs. Forsame ‘p’=2%25 =330
Q.15. At what 9/, rate of culfnpouml
interest currespomling(C‘:-I)w:!lasum
of money became 16 times in four
years, if interest is being calculated
compounding annually:

(@ r=100% (b) r=10%

(¢) r=200% (d) 1=20%
[June 2010]

Solution : (a) is correct

Tricks :- Go by choices

Hm‘]*:
For (a) Lt P=LA=1 17100
@)=16

. (ayis correct




T
CoMPOUND INTERES
b (@ 1518 (®) 15409 |
Q.16. Il‘thesimpleintcmslnnﬂsum‘f 15,300 @ 1525
money at 12% p.a. for OO years III: (HREE
¥3,600. The compound interest ont A ; meg y
same sum for two years at the SAME | ooy, (a) is correct ]
rate is: iy ) i
d U
(@) 23816 (b) T3,806 § (Scrap Value) = P(I_EIE]
(©) T3861 (@ T30 ; B
[June2010] | where P= Pr:mj:l_Pal,
Solution : (a) is correct | d= rate of depreciation
3600100 - ; IO
= = . §=125,000 1-———
p= 2R _z 15000 52125 oo[ -mo)

A PR
i — | -15000
FJ 1 1+ 1 00]
=3 3816.
Tricks:-. i
CI for Ist yr.=SI for Ist year=3600+2
=7 1800 g
CI for 2nd year =
72006 .- .
. CIfor2 years= 1800+2016=3816.
Q.17. The effective annual rate of in-
terest corresponding to nominal rate
6% p.a. payable half yearly is ;
(@) 6.06%.  (b) 6.07%
(e) 6.08.% (d) 6.09%
[Dec, 2010]

Solution : (d) is correct =~

ey e
r,h[[u%] ,-1]><10_o=6,u9%

" Q.18. The ‘cost of Machin :
ery, is

%1,25,000/- If its usefullife i wtiml:ted
!P b.e 20years and the rate of deprecia-
tion of its cost is 10% P4, then the

1800 + 1800 %12% =

scrap value of the Machi i
that (0.9)% = 0.1215) ° g i's'(g'm

=715,187.50.

given by:
(a) P= %

' =4e
(&) 42

Qe
@ p

Solution : (a) is correct

_PlOx2 P
S1= 100055

el b o 3
I Q[[I,I_g-a} }
=0.1025.Q "

From Question
8I=CI

P _' Y
?-0.102§Q

Q.lg. Mr. X .im«'ts P2 "amgyy
.| Simple Interest rate 10% anq M
invests ‘Q’ a_mpunt at Compn.md
terest rate 5% compounded anmy
At the end of tWo years both gt i
sameamount-of’ inte:_-esc, then the el
tion between two amounts P a{l‘ko

- [Dec. 2014

t
Ly

=ﬂ9_i
40

_4ig

200

|

3

|
4
N

COMPOUND INTEREST

orP = 5%0.10250 =0.51250
“P=To000~ " 400 80
410
~P= 20
Tricks :- GBC
Q.20. If the difference of S.I and C.1 is
772 at 12% for 2 years. Calculate the

amount.
~ (a) 8,000 (b) 6,000
(©) 5.000 (d 7,750
[June 2011}

Solution : (¢) is correct

(C.I -5.1)%(100) 2

Tricks: P= o
72x100x100 ;
I T

Calculator Tricks -P=72+12%+12%
=5000 : .
Q.21. Nominal rate of interest is 9.9%
p-a. If interest is Compounded

. monthly, What will be the effective

rate of interest

12 .
s {%] = 1.1036 (approw))?
(@) 1036% - (b) 936% .
(©) 1136% (d) 9.9%
[Dec. 2011, June 2012
Solution : () is correct. i
Tricks:-

e e
rc—[(1+ll_ﬁ) —113(1%

=1036%

8.11

Q.22. The difference between CI and
81 on a certain sum of money for 2
years at4% perannum s ¥1. The sum
is

(a) 625 (b) 630
(c) 640 (d) 635

[June 2013] -
Solution : (a) is correct ;
Tricks :- For 2 yrs

Sumof Money =200 '(i )
=
:% ?0)- —7625

Calculator Tricks:- P= | + 4%+ 4%
button = ¥ 625.

Q.23. If the sum of money when com-
pounded annually become 1140 in 2
years and 1710 in 3 years at rate of
interest

(b) 40%

(a) 30%
(©) 50% (@ 60%
[une 2013]

Soiutlon : (c) is correct. -
Interestin3rdyr.=3 1710-31140=3570
Tricks Note :- For 3rd yr ; it will be like
S.L :

- 1x100_ 570x100 _ o

P R TA0 Y 1
Tricks IT Go by choices.
* For (¢) A= 1140 + 50% (Calculator)
C=%1710 g '
P (c) is correct”

Q.24. The difference between and C.I

| & S.I at 7% p.a. for 2 years is 729.4

then principal is




8.12

(a) ¥5.000 .

(8) 25000 (@ Lyeas . (0) 24 yey,
(©) %6000 . (&) 76,500 ()20 ey @ None . :
A [Dec. 2013] L7 [Dee, 2y,
Solution : (¢) i correct " | Solution :.(C} Is correct e

'h'il:ks Pe I){.ﬁ'erencz.>((l(2'0)3
r

_ 294x(100)2 :

= T =¥6000.
Caleulator Tricks - p=29 4+ 794« 70,
button = % 6000
'Q.25. The Pa
lent ?3903
Pounded g

years,'A gotg the same
gets after 9 Years. Thes|

rtuers A & B together
at 4% p.a, interest com-

amount as B

y hare of A in the
sum of T3903 woylg have been

(a) %1875 (b) 22280

(e)- 72028 (d) 22820

. [June 2014]
Solution : (¢) i ‘correct

7 g =
4 4
Al+— | = =
[. 100] B[HIOO] .

A:B=676:625 .

_ T 876 RN don
~ 676+625¥903=2 2008

Tricks:- GBC

Q.26. A certain sum of money double
itself in 4 years g¢ C.L In how many

times to itself

y'eam it will become 32

- COMPOUND INTEREST

Roually. After a spam of 7

i

. Tricks;- 24 ;‘32“

=21 =) =o®

=L=0ysc
Q.?,‘I. On a certain sum rage

Find C'ompound interegt f
same :

@545 () g 945-
@40 (@) zig

Solution ; (8) is correct

; 90
BLPAS=:= 5.
Tl’u:kg Compound interest
| S 45HASHI0%) =T 945
Q.28. If an ‘Amount is kept
interest, it earns ¥ 60g in fi
butwhen keptat Com pound
earns at interest of 7 660 fo

r the samp
period; then'the rate of in

terest angd
Principle amoun respectively are

(a) 20%: %1200 (%) 10%; %1200

at siml;[,

interestjf

'ofin 5
@10% p.a.,, 8.1=% 99 Term = te::t 4
( ]

o th, &

rst2 year |

(9 20%; k1500 (g 10%; %1500
SR [Pune 2019
Solution:() {

Tricks:- Go by choices
. 5 - ]5 £ . r
(OSL=TRE  toe

Co
3 WOU‘ND INTEREST

True)
(c) is correct _
Q.29. Mr. X boughtan electmnici‘em
for 1000, What would pe the futyre
value of the same item aftey tWo years,
~if the value is compounded sep;.
annually at the rate of 22% per
annum ? 7 ;
‘ (a) 3148840
(o) 200807

4 “(b) 151807
(@ 7220000

_ _ [June 2016]
~ Solution : (b) is correct -

TR,

FV=P '(1_+i}"

e 2%2
B - 22
= 1T+—
£ . mor{ 7 200]

=2 1518.07 (approx.)

5 Q.30. The difference between the
 simpleinterestand compound interest

- onacertain sum of money invested for

- 2 years at 5% p.a. is T30. Then the

sum = :
(a) 10,000 - (3) 12,000 AR
- (©) 13,000 (d) None
i [Dec. 2016]
Solution : (b) : ¢
Calculator Tricks:

P=30 --5% + 5% button=312,000
Q31. A sum of money amounts to
27803 for one year at the rate of 4%
compounded semi-annually then the

. Sum invested is

i

8.13
@700 s
(©) 7,750 (d) 8,000
o [Dec. 2016
Solution ; (5)
' ' 2
P= i40
P=7303 [1+ 200]-
Calculator Tricks:
P:(4 =200 +1)+ =button2tinmx
7803 = button
C=T7500 :
Tricks : (b) (GBC) - A=7500 + 2%+

2% button = 7803,

1 Q32. The difference between simple

and compound interest on asumof I
10000 for 4 years at the rate of interest

*10% per annum is

(@) 650 (b) 640
(©) 641 - (d) 600
. [une2017)

Solution: C1 —SI

|l o e

= 4641 - 4000 =T 641.
option (c) is correct. [Note = Do by
Caleulator] . ¥

Q.33. If the compound interest on a
sum for two year at the rate 5% p.a. is
¥512.50, then the principalis !

(a) 4,000 (b) 3,000
(c) 5,000 (d) None of these
[Dec. 2017}
Solution : (c)



Proe. . ool

INTEREST
COMPOUND

8.14

Tricks:- GBC
Amount = 5000 +5
=5512.50. -
C.1=5512.50 - 5000 =% 512.50.
Q.34. Find effective rate of mterw:
corresponding to the nominal rate of
interest 7% compounded monthly is

0+ 5% button

(@) 7.26% () 722%
(c) 7.02 % (d) 7.20%
[Dec. 2017]
Solution : (b)

i 7
’:.=[:[1+—J *l]xloo%
1200

=7.229%=722%
Q.35. In compound interest, if the
amount is 9 times to its principle in
two years then the rate of interest is ?

(a) 300% (&) 200%
(c) 150% (d) 100%
[Jine 2018]
Solution : () Given,

A=p 1
100 |-

-

_ Y = r=2009 ‘
225100 i

ks -1+ 200 %200 %

So, (b) s correct f
36, Ifdifferencebetween Copy
gterest and Simple Interes: g
3yearsisT9i2attherated o, f, |
principal i ol

(@ 71,87,500 (b) ?1,87,00,0

P =912+4% + 4%+ (300 + 4)g,
=2 1,87,500

Q.37.If Rs. 1,000 be invested at inter,
est at interest rate of 5% and the i |
terest be added to the principal eveny
10 years, than the number of year i

2 1
16= 2
(a) 3 years (b) 64
2
(c) 16 years (d) 6-;—
[May 201§
Selution : () !

2
or; 9P=P(l+—r_]
: 100
by 2%
or; 9=[1+—I-J
100

" Interest is added to the principal ev-
ery 10 years. So, within 10 years ; simple
interest will apply.

So, Amount afier 10 yIs.

=1000 +1000x 10X5
100
=Rs. 1500,

= 6—2- yIs.

(©) 787,550  (d) T1,8570)
{une 2y 4
Solution : () '
Tricks - )

which it will amount to Rs, 2,009 is: B

COMPOUND INTEREST 8.15

Total amount= Rs. 2000
Exira [nterest needed = 2000 - 1500
= Rs. 500.
500x100 _ 20
Time= 1500x5 3

3
o foig?
go; Total time = + 3

2

=16— yrs.
3YTS

.38. If an amount is kept at S.L it
earns an interest of Rs. 600 in first two
years but when kept at compound in-
terest it earns an interest of Rs. 660
for the same period, then the rate of

interest and principal amount respec-

tively are :
(@) 20%., Rs. 1,200
(B) 20%, Rs. 1,500
(¢) 10%, Rs. 1,200
" {d) 10%.,Rs. 1,500

[May 2018]
Solution : (b)
Tricks:- Go by choices (GBC)
(a)S.I = M:%O#E»OO
100 .
So; (a) s false.
(b)S.I = w:Rs. 600
100 :
CI= (= 1500 +20% + 20% ) (button)
= 660. :
So; (b) is True.

o

(@ T117.1659

Q.39. 1 710,000 is invested at 8% per
year compound guarterly, then the
value of the investment after 2 years is
[Given (1 + 0.2)* =1.171659]
(@) T10,716.59 (b) T 11,716.59
(d) None of these
[Nov. 2018]

Solution : (b)

8 24
= e
FV 100000‘[ 400]

=T 1171659

Q.40. Abank pays 10% rate ofinterest,
interest being calculated halfyearly. A
sum of ¥ 400 is deposited i the bank.
The amount at the end of 1 years will
be Z

(@) 7439 (b) T440
() T442 (d) T441
[Nov. 2018]
Solution : (d)

' 10 Y
= 1+— | =441
FV 400[_ 200] ;
Calculator Tricks :-

FV=400+5%+5%=441

Q.41 A men deposited T 8,000 in a
bank for 3 years at 5% per annum
compound interest, after 3 years he
will get

(@) 79,000 (b) 78,2800
(e) T9,200 (d) T9,261
[Nov. 2018]

Solution : (d)

5 3
FV = 8000 (HE) =39261.




!
T |
8.16 cowpoun0 N ) 7.48 i
Calculator Tricks : ; (a; :9:% @ 7.[8:/n |
= c) I |
FV=8000+.5 % + 5%+ 5 % buttons= | € [Ny,
9261 y

Q.42. Ifin two years time a principal
of 2 100 amounts to ¥ 121 when the
interest at the rate of r % is
compounded annually, then the value
of r will be )

(a) 14 (b) 105
(© 15 (d 10
[Nov. 2018]
Solution : (d)
Details :-

P r ]3
121= i R et |
.1 100[“100] :100 [ 0

2 . 2 .
T Fooll
- ) LA

¥ {10] [ +10:}) o 10

ol 115/ 10
100 10 10

5 r=10%

I Trieks : GBC

| or FV = 100( +IT.6) Tul
(True) :
II Calculator Tricks :-
EV-‘—']00+10%+10%buﬁons=121
Q.43. The effective rate of inter#at for

one year deposit corresponding to a
nominal7% rateofinterestper annum

cﬂllyertihle quarterly is

3 I';V=8000 (l+—1—0— 2:?3‘@]
. " 200 e

Solution : (@)

" |
1 f

Q.44 How much will % 25,000 amgy,
to in 2 years at compound ipg, ..IF
the rates for the successive yeamﬂ
4%and 5% peryear

(@ 327,000 (8) T2730 |'
() 20,500 (@) T27909 |

. o [Nov, 201&}!
Solution : (b) '

' el K R
Fv_=25900( 1—@) X_(l+ T
o X S i
Caleulator Tricks:- 25000 + 49 + s%i

buttons - )
=%27,300/~ ! ¢

| Q45 % 8,000 at 10% per aunyy

interest compounded half Yearly wi] |
become at the end of one year |

(@) T8800 - (b) 28,900 B
() T8820 . (d) T9600 |
[Nov. 2015 |

Soiutfoh HOR

Calcu!altor Tricks :-

| FV=8000-+5% + S%_huttons_=-881[| 8

COMPOUND NI-EREST

Q.46. The value of furniture
depreciates by 10% a year, if the
resent value of the furniture in an

I officeis 21870, calculate the value of

farniture 3 years ago

(@) 30,000 (b) 340,000
(©) 135000 (d) 350,000

. [Nov. 2018]
Solation : (a) :
Calculator Tricks :- GBC

(a)30000- 10%- 10% - 10% button =
21870.

Details Method '_

' 10}
1870=P| | +—
o ( 100)

21870
= (G

* Q.47. If compound interest on 2 sum

for 2 years at 4% per annum is ¥ 102,
then the simple interest on the same
period at the same rate will be

(a) T90 (b) T100

(¢) 101 (d) 793
2! :  [Nov. 2018
Solution : (b) ;

-

e T e
ils:-CI=p|l+— | =P=
Details :- C.I _P( 100] 102

or P]:(l .04)z = l] =102
orPx0.0816.=102

817

prt  1250x4x2
e e e an | (1)

100 100

Tricks :- Go by choices -

For option (b)

S.I for 2 years = 7 100

. S.I. for I years =% 50

SLoflstyr.=CLof Istyr.=% 50

ClI. for 2nd yr. = 50 + 4% =37 52

Total C.I. for2 yrs =50+ 52=% 102
(True)

.-, Option (b) is correct
Q.48. If the difference between the
compound interest compounded
annually and simple interest on a
certain amount at 10% per annam for

two years is ¥ 372, then the-principal
amount is : :

(@) ¥37,000
(b) 37,200
(€) T 37,500

AL

() None of the above -

[Nov. 2018]
Solution : (b)
Tricks :-

P =372 +10%= 10%=7 37,200
Q.49. What is the net present value of
piece of property which wounld be

valued at T2 lakhat the end of 2 years?
(Annual rate of increase = 5%)

(a) T 2.00 lakh :
.(b) T 181 lakh
() 201 lakh
(d) None of the above
[Nov. 2018/
Solution : ()




8.18

-2 Tae

- 5 ] =1.81 lakh
= =1.
NRY. [ 100] _

(approx)

Q.50. A sum was invested for 3 years

as per C.I. and the rate of interest fﬂ'];
first year is 9%, 2**year is 6% and KR
year is 3% p.a. respectively. Find the
sum if the amount in three years is
T550°?

(a) T250 () T300

(c) T462.16 (d) T350
% 5 [June 2019]
Solution : !
Tricks :- GBC

(c) 462.16 on Calculator, o as Type
462.16 + 9% + 6% -+ 3% button we get

550. So (c) is correct. N

Q.51. The effective rate of interest
does not depend upon

() Amount of Principal

(b) Amount of Interest

(¢) Number of Conversion Periods
(d) None of these -

[June 2019]
Solution : (a) is correct :
Q52.If p.2=96, and R = 8% com-

pounded annually then P =
(a) T 14,000 () % 15,000.
(c) T 16,000 (d) 17,000
[Tune 2019
Solution H () ; i
Tricks :- Given, pi*=0¢
Means

interest of twg periods (_‘fTs. hﬁ[&)

15 96.

. - ST

So; GBC (Calculator Tricks)
(@)1= 14000x8% x8%,

=89.6#96
So; (a) is False.

We get 96.
So, (B) is correct.
Tricks I1
P=96+8%+8% buttons,
=%15,000.

Q.53. The present value of a SC00ter
7 7290. The rate ‘of 'depreciaﬁ.,,,h

ton - 10% button -10% button g
we get T 7290, '
.~ (a) is correct,

Q.54. The difference between con-

10% p.a. for one'year.
R N
@ %35 " (d) T40

[Dec. 2015
Sﬂl'llﬁon :(a)

() Type 15000 X 8% x 89 b, |

10%. What was its value 3 years 3§nv 3

i

(a) 10,000 (b) 10010 -
(c) 9990 (d) 12000 _
. ﬂ?ec.-zm;!
Solution : (@)
Calculator Tricks : GBC
after 3 years; 5
PV.=7290.

For option (), Type 10,000 - 10%bu | -

pound interest, compounded semiar- |
nually and simple interest on 7 400! 4

i e

C.I. 10% p.a compounded semi-annu-
ally = (10/2)=5% interest in 6 months,
. There are 2 periods in I yr. i
. FV =400+ 5%+5% button = 44]
C1=441-400=41.

$1=400x10% =40 for 1 yr.
. CI-SI=41-40

=%l SR

* [Another Trick: Difference =400 x 5%
% 5% =% 1] ]

Q.55. In how much time the S.I. on a
certain sum becomes 0.125 times to its

principle at 10% p-a. is

' (a) 1.00yts- < - (b) 1.25yrs
(¢) 1.50yrs (d) 2.00 yrs
: [Dec. 2019

Solution : (&) ;
Let pﬁncipal =71

S1=0.125

,Ix100_ 0.125x100
DT 1x10
=125y i

- Q.56. In what time will a sum % 800
amounts to T 882 at 5% p.a. com-
pounded annually * s

for (6) FV = Amounts =800 +5% + 5%
button =¥ 882

£ (b) is cormect.

COMPOUND INTEREST

@) Lyrs (®) 2yrs
(c) 3.yrs - (d) 4yrs’

AR [Dec. 2019] |
Solution : ()

" Tricks : GRC

8.19

Q.57. Find the effective rate of inter-
est if an amount of ¥ 30,000 deposited
inabank.For1yearattherateof10%

_p.a. compounded semi annually.

(@).10.05% . (b) 10.10%
" (e) 10.20% (d) 10.25%
[Dec. 2019

Soluﬁoln :(d) )

Here, No need of Principals value.
Formula

:.Effective rate of interest

= [_(1+1)’*'{1]x100' _

r= 1+~£ —1|x100
C 200
Calculator Tricks :

Type 10+200+1xbutton= buton 1
time -1X 100 = button ;
We get 10.25%

5 =1025%

Q.58. The present population ofa town
is 25,000. If it grows at the rate of 4%,
5%, 8% during 1st year, 2nd year, 3rd
year respectively. Then find the popu-
lation after 3 years.

(a) 29,484 (b) 29,844
(c) 29448~ (d) 28,944
[Dec. 2019]

Solution : (a)

Tricks : Population after 3 yrs
=25000 + 4% + 5% + 8% buttons
= 29434_ :




8.20

Q.59. An amount? 35000 with therate

of interestis 7% per annum, it is mmli
pounded on a monthly basis, then t¢
the effective rate of interest.

(a) 7.22% (b) 7.64% .
(c) 7.0% (d) 7.5%
[Dec. 2019]

Solution : (a)

: 13
r,=||1+—— | =1[x100
. 1200

Calculator Tricks

-

Type 7+1200+1xbutton = button 11
times -1 X 100 = button -
We get 7.229% = 7.22% (approx.)

- Q.60. On what sum will the compound
interest at 5% p.a for 2 years com-
pounded annually be ¥ 3,280

(a) 16,000 - (b) 732,000
(c) T 48,000 (d) T64,000

[Dec. 2020
Solution : (b)? Formula

C.L=P[(1 +iy-1]

3280 5
_"P [l‘i—m)-l}

=P[1.1025- 1]
3280 = P(0.1025)

) 3280 i
Lo P S
0.1085 32000
. Cajculator Tricks :- GBC,

@ CI=16000 + 5%+ 5% - 16000

T
COMPOUND INTERES

~ (a) 3486.70

=7 1640
#3280
. (a) Is incorrect.
(8)CL=32000+ 5%+ %% by, |
32000
= 3280 (Correct)
:. (b) is correct.
Note: No Need to write a“}'fhinge]&
Ounly on Calculator in secop i

Q.61. An amount P becomes 5,100
and ¥ 5,203 after second and fourgy

Thus, values of P and r are

(c) 6,000 and 2 () T 5,500 angs

[Dec. 203

Solution : Tricks GBC (Caleulagyr
Tricks)

button (Press) =¥ 5100.5_(True)

+ 1% button =% 5203 (True)

~ (a) is correct, !
Q.62. The_ useful life of a machine
whose cost is 7 10,000 is 10 years. Ifit

depreciates at 10% p.a. then the scrap
value of the machine js,

(5) 315830
(d) 7033
[Dec. 2019

(€) 3500

Solution 1 (a)
Serap Vahye

years respectively, at r% of illlerq b
per annum compounded annygy, |

(a) T5,0002nd 1 (5) 4,000 and; 5

(a) FV after-2'yrs = 5000 + 19 + 1 |

FVafterd yrs=5000+ 1%+ 1%+ 1, |

COMPOUND INTEREST

: i i
5 1‘0,000[l—ﬁJ =10,000(0.9)"

Cnlculatﬁf Trlicks:

Type 0.9% = button 9 times X button
10,000= button, we get T 3486.78

Q63. A certain sum invested at 4%

er annum componn'ded semi-annu-
ally amountsto< 1,20,000at the end of
one year. Find the sum

(@) 1,10;120  (b) 1,15,340

(© 1,12812 (@ 1,13,113
[Dec. 2020]

Solution : Tricks GBC

Caleulator Tricks Interest for Ist 6
months = 2%.

(@) EV = 1,10,120 + 2% + 2%
" #1,20,000
(a) is incorrect.
(b)FV=% 1,15,340+2% +2% button
=% 1,19,999.736 = 120,000
(b) is correct.
II. Calculator Tricks
P=A(l+i"

4\
=12 4 :
1,20,000 (I + 200) :
»* on Caleulator — Type 4 =200+ 1 =
button

then Press = button 2 times.

then press “x” button thén type
1,20,000 = button =% 1,15,340
Q.64. The ratio of principal and the
€ompound interest value for three

8.21

years (compounded annually) is 216 :
127. The rate of interest is

(a) 0.1567 (b) 0.1777
(©) 0.1666 (d) 0.1588
[Dec. 2020[

Solution : Tricks GBC

Use calculator [No need to write any-
thing else]

(a) Letr=0.1567=15.67%

516 TR
Cl=216[1+—=2=| 2162127
16[ + 100 ]

3
®) c_r=216E1+1:£) 216

#127
() r=0.1666 =16.66%

il 16.66Y".

o (Eli=as [HT&)—] 216.
Cal. 16.66+ 100+ 1 x=2 times—216
=126.9412=% 127.
= (c) is correct.

Detail




—

REST
8.22 CUMPOL.]ND ]‘NTERES : o :
rupees gver when cOMPOUndeq, |
Skl ally. p
J00HE0 (a) 056 (6) 0.45
T % e % () 0076 (d) 0.85
; [Dec, 2
0
r= lg—g = 16.6‘6% Solution * LetP=%1 i
r=0.1666 Effective raté ;
4 g
{c) is correct. & I[l*—izj _1} % 100
Q.65. Find the present value of \ 400
% 1,00,000 be required after syearsif | —4576 95 (approx) yearly,
P B o
(a) 7899598 () 6499420 : _ﬁ?‘@i“'y:=4-576-4-5%= 0.07y,
() 8899243 (@) ooz | @ 's-_":":: e
: 2020 | Q67 Fin€ te ARG 0T Colhpon
[Dec. 2 / interest, if an amount of T 50,000": :

Solution : Calculator Tricks
PV=A(l+i)"

9 Y
100,000 [1 + Eﬁj
On Calculator Type 9+ 100+1 +=5
times % 100000
— puttons = ¥ 64,994.20

ORPV= ———
(1+1)

_ 1,00,000 _ 100,000

(1.2 ) %)

(12 i) '
_1,00,000 _ bt
=15386 —64,994.15 [Given (1.09)

" = 1.5386)
- (b) is correct.

Q.66. An amount is Jent at a nominal

VP—-
\

A

deposited in a bank for one year at

rate of 8% per annum compoundej
semiannually :
(a) 3080 (b) 4080
(c) 5456 @ 7856
' i [Jan. 202]

.Sn]utioil : Tricks (b) is correct.
Principal = 50,000 :
Semi annually rate of interest -
Amount = 50,000 + 4% + 4% (button)
(By using calculator)
= T54,080 :

CI.= A P = 54080 — 50000

= T4080 4
(b) is correct
Q.68. The population of

a town i
at the

rate of 4.5% per annum compounded
quarterly. What would be the gain in

crease by 2% of the population

2

() 19 years (@pProY)

- %In
* Let after tyears population

_ compoun

COMPOUND INTEREST

inning of the year. The number of

beg! .
ear by which the total increases in

Papulnﬂuli would be 40% is :

(a) 7 years

() 10years
(€). 17 years

3 [Jan. 2021]
Sulﬁﬁon_ . (¢) is correct

crease in population =r= 2%
=1+40%=

1.40

[n population increase case, always use

d Interest. Formula.

B =ptly:

“Type ]

() T832

. 2 i 2 1%l
K. or 1140=1 []+—ﬁ6)

.= 140= (1-02)
Calculator
.02 x = button (Press)
antil to get 1.40
After pressing = button 16 times, we
get 1.40 appro%, .
L t=16+1=1Tyears
! mat4% p-a. for
CI on the same

Q.69.The _simplé onsu
2yearsis T 80. Find the
sum for the same period.

(a) T81:6 () T803
(d) 2823
[Jan. 2021]

Solution : Trlcks (@) is correct
S for 2 year =% 80

2 81 for each year = 5'29 =T40

823

S.I. of Ist year = C.I. of Ist year =% 40
C.I for 2nd years = Interest on Principal

|1+ Interest on interest earned in st year.

= S.I. + Interest on S.I.
= 40+40 x 4% =T 41.6
[Calculator 40 +4% = 41.6]
. Total Compound Interest =40+ 41.6
=%81.6
ie. CL=40+4%+40=%816:
Q.70. Which is a better investmentQ%
‘pa. compounded quarterly or 9.1%
p.a. simple interest?
(@) 9% compounded
(b) 9.1%S.L.
(c) Both are same
(d) Cannot be said :
[Jan. 2021]
Solution : (@) is correct
= [(+ir-11% 100%

; 9 Y

= [f+ﬁa] —]} % 100.

Where m =No. of conversion pe

I year=4 ]

Calculator

[9+400+1x=

=100 (button) =9.308%

=931%pa.

Clearly 9.31% is more than 9.1%

9% compounded quarterly is better.

Q.71. The effective rate of interest
pominal rate of

corresponding to &
7% p-a. Icomponmled quarterly is

(@) 7.5% () 76%

riods in -

button 3 times — 17




e

INTEREST

826 coMpOIND’® ;
n t= Time =5 }'Bﬂl’s

for 22 years at the rate of 10% P-4 | et pasiCl

when the interest is compounded | - Compound Interest
yearly? gt R ] —.l

(@ 13575 (b) 12950 =P [(l 100/ |
© 15175 (d) 14720

[July 2021]

Solution : (¢) is correct

o, Prt_800gxifxt
00l 00!
= %1920

For compound interest

Rate of interest for % years

2

= Sxlo=4%
Tricks.
* Hence

- C.L =8000+ 10% + 10% +4%
button — 8000 (Type)

= 206720 _
So, Différence between C1. & S

= 2067.20~1920=7 147:20
Q.80.'S deposits an amgiémt in bank

which gives 10% cnﬁﬁnund ']m_em‘st" | Solution : (€)

gives T61.051in 5 years
- 81=CL
PRT

. —

=61.051

100 xRx5
100
61.051

or =61.051.

=12.21%

compounded annually for 5 years, | §

}\"hnl is effective rate of sfﬁ:prlsa o Vﬂ'"'?
interest? - : S- 'I‘.d i
: (a) 1221 (B) 1111 o (‘TOE]

© B2 (@ g ' 2y

pite| RN AN
Solution : (a) ; . = X3
L =(0.88)s = 0.4644
1= 10% Compounded yearly ; g 0:6 l
= 3=0.46p

orR= —5— =12.2102%

Q.81. Cost of a laptop is ¥ 1,10,009 an
its value depreciate 12%, annually ji

i Bl - 1
=100 (1+—10—J 1oz |
=190 ("100) [ =Ry

Let R be @ single rate of intereg; Whig

F

b

lifeis 6 yearsits scrap value...... timeg
its cost -
@044 (3) 042
@© 045 (@) 048
- [Dec. 2021

L

l

B _orS=-

COMPOUND INTEREST

Calculator

Type 0.88 x =5 times
Q.82. If the compound interest earned

ati% p.a.innyearsis to be earned at
% simple interest rate for n years,
. thes= ;
o1 e
_(a)' it ) lﬂ. s
B (IS e = ()
(© ", (@ .
: [Dec. 2021]
Solution : (¢)

compound Interest = Simple Interest

- g la+i-11=§ ns
[Whére Sin dec_iﬁal_fo[m]. 5
(16 e e

Q.83. A company needs T 10,000 in
five years to replace as equipment.
How much (in¥) mustbe invested now
at the interest rate of 8% p.a. is order
to provide for the equipment ?

(a) T6,606  (b) T 6,806
(c) 10,500 @ % 11,_500
: [Dec, 2021}
Solution : (b)
PV =A(l+H)™
8 =5
= 10000 {1 +——-]
100 -

=1000(1.08)° =¥ 6806
Calculator Tricks — Type 8 + 100 + 1 +
= button :

-5 times x 10000 = button = 6805.8 =
% 6806 y

|

827

Q.84. It needs to pay T 5,00,000 after
10years. Heinvestedasumin ascheme

| at 9% rate of interest compounded

half-yearly. How much amount (in <)
he invested? (1.045" =2.41171) -

(@) 397321  (b) 270321
(€) 297321  (d) 340321
2 [Dec. 2021]
Solution : (¢) -
Given
FV =A=%5,00,000
t=10 years

r = 9% compounded half yearly m = 2:
n=mt=2x10=20

L Sy
SN
£ [ IOGmJ

; - 9 Y2
= 5,00,000( 1+—
; ( 200)
_ 500,000°  5,00,000
“(1.045° - 241171
.=%2,07321
Q.85. A sum of money is put at 20%
compound interest rate p.a. At which

year the aggregated amount just ex-
ceeds the double of the original sum?

(@5 b 6
() 4 @3
[Dec. 2021}

Solution : (¢) .
L. Calculator Tricks .
T+ 20% + 20% + 20% + 20% button
=20736>2

S t=4yrs.



T

.. (a) is correct

. REST _
828 copou® * e S
g ) There is 60% increage |
2nd ..ﬁuunf in 6 years at simple intey, :'
Method .. atwil be the compound imeremL
N - 71 2’{»:mﬂflp,_r:!ye.tars at thf'salne ri‘-t_ﬂl
—=|1l+— i
P ( wo] ; @I (& 2,150
= (1.20) © 73,120 (@ 3,742
On Calculator . ; [June 202
-Press 1.20 x = button 3 times : ] 2
g ; Solution :
It becomes greater.than 2. ; 27100
Sot=3+1 =4 years. s iz
Q.86. An investment is earning com- | A =_f 160 ALk
pound interest, T 100 invested in the | g f— A~P = 160 - 100=360 -
year 2 accumulated to T 105 by year 4. ; 60100
If Z 500 invested in the year 5, will | = %;1?2=m=10%_ B
DECOME T veenreeeeees by year J0s ] s . ; -
(a) 36480 ~ (b) 564.80 Now
(c) 464.80 (d) 66480 |- As CI A=12,000+10% + 10% + 15,
kg ' [yune2022] | button (o &
Solution : 15t ConditionP =% 100;A= | =% 15972 s :
T105,n-2; 1= - [or=A-P=15972-12,000°
Now % =(1.+-1')"'l =23972 ; ; i ]
103 : 5 . (a) is correct B e s ]
_orjgp =+ ; _ .
: PRt Q.88. The present value of T 2,000,
= (1 +iP=T1.05 e (1) after 8 years at the rate of 6%
Phrie P Yo ate of 6% per
Secondly . P=T 500/ A=7 - annumjis____-(1.06°=1.59385
t=5yrs; ﬂ.': 5. : . ; @ 1,054 (b) T _1,254 y
S A=P(+i)p] . [ @ r30ss (@) X205
=500 (1 +i) Shi SIS Fe o Mune202 |
=500 (1+iF(1+1) Solution : PV.=A (1+)™
O i A L 1% o i i 6 _‘s
=500°{(1 + i)} "(1'.* i) 2000 (1+ 1_0'6]
=500 (1.05)%. V1.0 ! | Caleutator Trieks - o
Sl ‘ Type.6.+ 100 + 1 + = button 8 times *
| 2000 = button i

h 4

COMPOUND INTEREST

pv =% 1254 (Approx)

(b) is correct: .

(:89: A machine worth T 4,90,740 s
depreciated at 15% on its opening

yalue
reduce to¥ 2,00,750.

@3 years 5 months
(b) 5 years 6 months
(c) 5 years 7 months
@ 5 years 8 months g
, [Dec. 2022

. Solution:

Tricks :

8 200750)]
08| 4,00,740 s

= 15
log(l = m]

_ 1080409076) _ 5 4008 = 5.5,
102(085) 5.4998 = 5.5 yrs

- ='5 yrs 6 months

Calculator Tricks™ -

L Type0.85press ' button 19times |

1 %2,27,695 = button then press
.. M+ button. g7
I Type2,00,750+4,90,740 =button

Then press / button 19 times

each year. When its value would |,

| (¢) is correct

8.29

—1 %2,27,695 = button

II. Thenpress+buttonthen pressMRC
= button

(It is time value in decimal form]
. We get 5.4998 yrs

=5.5y15

Means 5 years and 6 months
(b) is correct.
Q.90. If ¥ 64 Amount to T 83.20 in
2 years, what will ¥ 86 Amount fo in
4 years at the same. Rate per cent per
annum? !

(a) 12760 (b) T147.60

() T14534 - -(d) T117.60

-k - [Dec.2022]
Solution : Z 64 Amounts to T 83.20.in
2 yIs.

Tt means ¥ 64 becomes 83.20 = 64
=13 times in2 years.

Hence, Z 86 will become 86 1.3 (times)
in2 yrs X -

and ¥ 86 x 1.3 will become (86 * 1.3) %
1.3 (times)

=7 145.34 in next 2 yrs.

S0 86 will become T 145.34in 4 years.
Q.91. The effective annual rate of

interest corresponding to a normal
rate of 6% per annum payable half

yearlyis ¥ -
(a) 6.06% (b) 6.07%
(c) 6.08% (d) 6.09% .
R [Dee. 2022]




coMPOUN

830

 Solution: r= [(1 +)" = l] x 100%

2
i [[“3‘85] -1]x1009_o = 6.09%

[Note : Calculator =—Type 6 + 200 +1
= button 1 time -1 x 100 = button]
* (We get restlt)

= (d) is correct. - 3
Q.92. 10 years ago the Earning Per |
Share (EPS) of ABC Ltd. was T ‘5
share. Tts EPS for this year is T 22.
Compute at what rate, EPS of the
company grow annually?

(@) 15.97% (B) 1677%

(c) 18.64% (d) 14.79%

[Dec. 2022]

Solution: -+ EPS growing annually
So compound interest applies
LetClpa=r :

o &3 10 years
Go by choices

@r=1597%(ety ~ =

10

Fv= (1 +127)

=22.00019 ......

=22 (True)

[Note : Calculator:=

Type 1597+ 100+ 1 x = bution 9
*5=button, - ' o

We get 22]
- (a) is correct,

D ]NTEREST

93, M. prakash invested m
two schemes ‘A’ and ‘B’ offenng
0,

compound interest at the rage op

total am :
through these tWo schemes togethg,

two years was T 481830 ang gy
amount invested was T 27,000, Wiy
was the amount invested in §

‘A‘?'

(a) T12,000
() T 13,000

(5) 212,500

“(d) 13,500

: [Dec. 202

Solution: . ;
227,000 (lovested)

A SChﬁEff

A B .
8% - %
Time 2 years * 2 years
Go by choices :
(a)LetP,=12000 P, =27,000- 12,009
=T 15,000
Calculator : . CI | =12,000 + 8%

=M + button

Then | 15,000+ 9% + 9% — 15,000
" =M + button

Then press MRC button

We get % 4818.30 (True)

- (a) is correct

Q94. A sum of ‘money invested of

0mpound interest doubles itself it |
four

Years. In how many years it

ne’{ih {

¢ i nl
9% per annum 'l‘espectwqy‘ 16
b ount of interest ﬂeer‘h- .

themq 1

‘annum? "

+8%—12,000 |

COMPOUND INTEREST

pecomes 32 times of itself at the same

ate of compound interest.

(a) 12years (b) 16 years
(¢) 20 years (@) 24 years -
AN : [Dec. 2022]

golution: Tricks : ’

e
; %2 T4 - T8 Ti6
"-_-—', : -

1 becomes 32 times

Tin Atdbdddrd

=4 x5 =20 years
. (¢) is correct :
Q.95. The difference between
compound interest and simpleinterest

" onan ampﬁnt of T 15,000 for 2 years s
. ¥ 96, What is the rate of interest per

1(b) 8%
(d) 10%

(a) 9%
(o) 11%

Solnﬁoﬁ: Given,
. P=%15000 °
L r=9;t=2yrs
CI-SI1=%9%
Hiqks

. P=D+7%+ r%bitton.

GBC () 96 +9% + 9% button ~
~ #15000 (False)

So (a) is wrong,

(b) For 8% .

P =96+ 8% + 8% button (Press)

=% 15000 (True) fay

< (b) is correct

P 1 fDes 20227 |

831

Q.96. A sum of money doubles itselfin
4 years at certain compound interest
rate. In how many years this sum will
become 8 times at the same compound
interest rate?

(@) 12 years (b) 14 years -
(c} 16 years (d) 18 years
[Dec. 2022]

Solution : Tricks

After After | After

4 yrs dyrs. ' 4y1s

; T2 74 %3
o MUREYT, o SRS g e

ol

- T 1 becomes T8 nd+4+4=12 yrs.
(a) is correct : 4
Q.97. The Nominal rate of interest is
10% per annum. The interest is com-
pounded quarterly. The effective rate
of interest per annum will be:
(b)-10.10 %

(@ 10%
© 1025%  (d) 1038%

e : [June 2023]
Solution : Here r =10% Quarterly .-

m=4 s

r,=[@+0"-1] x 100%

10 4 -
s H—W —1| % 100%=10.38%

Calculﬂor
10 = 400 + 1 x = button 3 times
-1 x 100% (button)
- =1038%

" (d) is correct.







